Sentence Transformation - Intermediate Level Test 02

Questions

1.

It is fairly unlikely that he will be convicted of the offence.
=-> There is Httle... ...

It is unlikely that the equipment will be damaged.
--> There IS NOt MUCN..........ccvviiiiiiee e

It is likely that future man will have bald heads.
-->There iISMUCh........cccoevviiiii e

It is likely that robots will do a lot of human work in the future.

-->There isa chanCe that..........ooeveveeeeeeeee

It is likely that machines will think for man.
--> There is likelihood that..............cc.ccccvne.

You should admit that you're to blame, not try to conceal it.
=-> 1'd rather YOU.......ccooiiiii e
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7. You should undergo a medical operation.
-->You had better..........cocoovvveiiiieiie

8.  Nuclear weapons ought to be banned.
--> Nuclear weapons should....................

9. Progressive people had better build a peaceful world.
--> Progressive People........cccoviieieienenenenesese

10. We young people ought to contribute our efforts to our country.
=-> WeE YOUNQ PEOPIE.....eiieeeieeeiece e
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